#0255 [6.4B[1

$0.320 [8.131[]1

N

N

N\

DIMPLES

COMPRESSION INSERT TREE
QryY. 1

\|so..so [10.10]

—+}0.984 [25.00]

#0.400 [#10.161

L
1.217 [28.62] ]

#0.210 [5.330]
#0.285 [7,2410]

#0.315 18.001

0.640 [16.25]

HTH COVER HALVES
B>

REVISIONS

#4—40 X 7/16" FILLISTER HEAD MACHINE SCREW

MATERIAL — STEEL

FINISH = BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)

QTY: 2 EACH

H/Tu% #2 BLANK HEX NUT

MATERIAL — STEEL

FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)

QTY: 2 EACH

#4-40 X 1/2" FILLISTER HEAD CAPTIVE SCREW

MATERIAL — STEEL

FINISH ~ BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)

QTY: 2 EACH

#4 SADDLE WASHER
MATERIAL — STEEL

QTY: 2 EACH

THIS IS A CONTROLLED DOCUMENT AND IS
SUBJECT TO CHANGE. CONTACT NORTHERN
TECHNOLOGIES ENGINEERING FOR THE
LATEST REVISION.

FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)

PART NUMBER INFORMATION

PART# LOGO STYLE SUPPLIED
A30E300000 {NO LOGO BULK
CBBE300000 [NO LOGO PACKAGED
A30E301000 [NORTECH LOGO |BULK
CBBE301000 [NORTECH LOGO | PACKAGED

CONNECTOR COVER:

1.MATERIAL: ABS COMPOUND — UL94HB

2.FINISH: NICKEL PLATING PER NTC SPECIFICATION N/T 000500
3.DIMENSIONS: INCHES :zu_

4.TOLERANCE: £0.015 [0.381]

COMPRESSION [INSERT TREE

1.MATERIAL: THERMOPLASTIC

2.COLOR: BLACK

3.DUROMETER: 75 +5 TYPE A PER ASTM D2240
4.DIMENSIONS: INCHES [MM]

5.TOLERANCE: +0.020 [0.508]

ZONE REV DESCRIPTION DATE APPROVED
A | ECN 0553 20-MAY-03
B | ECN 0601 10-AUG-06
NO LOGO NORTECH LCGO

UNLESS OTHERWISE
SPECIFIED

L ALL DIMENSIONS ARE IN
INCHES G8D
€ DIMENSIONS ARE TYPICAL

Northern
Technologies

TECHNOLDGIES WRITTEN PERMISSIN

PART NUMBER  SEE PART NUMBER INFORMATION

DRAWN DESCRIPTION CMP 09 STR EXIT TWO PIECE
JSD 10—-FEB-05 METALIZED PLASTIC COVER
CHECKED SIZE [ CODE DWG NO. REV
SCN 10—FEB-05 B 200_131 0002—-200—131
ISSUED
10-FEB-05 |[SCALE 1:1 SHEET 1 OF 1




\Iao.So [#10.16]

1.312 [33.33] —

0,400 [810.16]

1.650 [41.91]

_, 1.540 [39.12] —-|

©0.255 [6.48L[1

80,210 [S5.3310]
80,285 [7.2410]

#0.315 [8.001

DIMPLES

COMPRESSION INSERT TREE
QTY. 1

N K& K,

N AY

REVISIONS

FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH

W/%#Iéo X 7/16" FILLISTER HEAD MACHINE SCREW
MATERIAL — STEEL

#4—-40 #2 BLANK HEX NUT

MATERIAL — STEEL

FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH

#4—40 X 1/2" FILUSTER HEAD CAPTIVE SCREW
MATERIAL. — STEEL

FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH

#4 SADDLE WASHER
MATERIAL - STEEL
FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)

ZONE REV DESCRIPTION DATE APPROVED
A | ECN 0553 20-MAY-05
B | ECN 080t 10-AUG-06
0.640 [16.26]
NO LOGO NORTECH LOGO
~ 2.
vcoﬁx HALVES
\\
PART NUMBER INFORMATION
|(_ PART# LOGO STYLE  |SUPPLIED
5 J A30E310000 [NO LOGO BULK

CBBE310000 |{NO LOGO PACKAGED
A30E311000 [NORTECH LOGO |BULK
CBBE311000 |NORTECH LOGO |PACKAGED

CONNECTOR COVER:

1.MATERIAL: ABS COMPOUND — UL94HB

2.FINISH: NICKEL PLATING PER NTC SPECIFICATION N/T 000500
3.DIMENSIONS: INCHES [MM]
4. TOLERANCE: +0.015 [0.381]

COMPRESSION INSERT TREE

1.MATERIAL: THERMOPLASTIC

2.COLOR: BLACK

J3.DUROMETER: 75 +5 TYPE A PER ASTM D2240
4.DIMENSIONS: INCHES [MM]

5.TOLERANCE: +0.020 [0.508]

QTY: 2 EACH
UNLESS OTHERWISE
SPECIFIED

1 ALL DIMENSIINS ARE IN
INCHES Q80
2 DIMENSIINS ARE TYPICAL

THIS DRAVING 1S THE PROPERTY OF
NORTHERN TECHNOLOGIES AND SHOWLD
NOT BE REPRODUCED WITHOUT NORTHERN
TECHNOLOGIES WRITTEN PERMISSON

Northern
Technologies

PART NUMBER  SEE PART NUMBER INFORMATION

DESCRIPTION CMP 15 STR EXIT TWO PIECE

THIS IS A CONTROLLED DOCUMENT AND IS DRAWN
SUBJECT TO Wo:»:nm. CONTACT NORTHERN JSD 10—-FEB-05 METALIZED PLASTIC COVER
AT RGN, VRN FOR THE CHECKED SIZE | CODE WG NO. REV
SCN 10-FEB-05 B 200_132 0002-200-132
ISSUED
10~FEB—05 | SCALE 1:1 SHEET 1 OF 1




90.522 [13.26
/o [13.26]

rFFFﬂH

1.857 [47.17)

LOGO AREA
(IF APPLICABLE)

4

Q 1.800 [45.72]

90,410 [10.41)

90,450 [11.431

",

s
2.090 [53.08]

#0.370 [9.40]

©0.300 [7.621

COMPRESSION INSERT TREE
QTY. 1

Z) 7

REVISIONS

0.710 [18.03]

COVER HALVES

0.640 [16.25]

90,230 [5.84]

#4—40 X 7/16" FILLISTER HEAD MACHINE SCREW
MATERIAL — STEEL

FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH

H/?Lo #2 BLANK HEX NUT

MATERIAL — STEEL
FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH

#4-40 X 1/2" FILLISTER HEAD CAPTIVE SCREW
MATERIAL — STEEL

FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH

#4 SADDLE WASHER

MATERIAL — STEEL

FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH

ZONE REV DESCRIPTION DATE APPROVED
A | ECN 0353 20-MAY-05
B | ECN 0601 10-AUG-06
NO LOGO NORTECH LOGO

PART NUMBER INFORMATION

PART# LOGO STYLE SUPPLIED
A30E320000 [NO LOGO BULK
CBBE320000 [NO LOGO PACKAGED

A30E321000 |NORTECH LOGO |BULK
CBBE321000 |NORTECH LOGO | PACKAGED

CONNECTOR COVER:

1.MATERIAL: ABS COMPOUND - UL94HB

2.FINISH: NICKEL PLATING PER NTC SPECIFICATICN N/T 000500
3.DIMENSIONS: INCHES [MM]

4. TOLERANCE: +0.015 [0.381]

COMPRESSION INSERT TREE

1.MATERIAL: THERMOPLASTIC

2.COLOR: BLACK

3.DUROMETER: 75 +5 TYPE A PER ASTM D2240
4.DIMENSIONS: INCHES [MM]

5.TOLERANCE: +0.020 [0.508]

UNLESS OTHERWISE Northern THIS IRAVING IS THE PROPERTY OF
SPECIFIED Technologi N7 $E RETREIAGED VITELY WRTHERN
L AL DMENSIRS ARE N ec :OOQ_QW TECHNLOGIES VRITTEN FERMISSION
DIGES G40
2 DIMENSIINS ARE TYPICAL
PART NUMBER  SEE PART NUMBER INFORMATION
DRAWN DESCRIPTION CMP 25 STR EXIT TWO PIECE
BIECT o CHANGE CONACY NOHERN JSD 10~FEB-05 METALIZED PLASTIC COVER
TECHNOLOGIES ENGINEERING FOR THE
CHECKED SIZE | CODE DWG NO. REV
LATEST REVISION.
SCN 10-FEB-05 B 200_133 0002—-200—-133
ISSUED

10—-FEB-05 |SCALE 1:1 SHEET {1 OF 1




80.425 [#10.80]

#0.500 [#12.70]

DIMPLES ary. 1 SPECIFIED H NOT BE REPRODUCED VITHIUT NORTHERN
L AL DIENSINS ARE IV ._.OOT:‘._O_Oﬂ_OM TECHNLDGIES VRITTEN PERNISSIIN.
INCHES O8O
2 7 — 73 # DIMNSTINS AR TYFICAL PART NUMBER SEE PART NUMBER INFORMATION
THIS IS A CONTROLLED DOCUMENT AND IS |DRAWN DESCRIPTION CMP 37 STR EXIT TWO PIECE
SUBJECT TO CHANGE. CONTACT NORTHERN JSD 10—FEB-05 METALIZED PLASTIC COVER
TECHNOLOGIES ENGINEERING FOR THE
7 LATEST REVISION. CHECKED SIZE | CODE DWG NO. REV
= %; 7 Y SCN 10~FEB-05 | g 200_134 0002-200-134
ISSUED
10—FEB-05 | SCALE 1:1 _m:mﬂ 1 OF 1

$0.726 [#18.44]

S

2.500 [63.50]

LOGO AREA
\l (IF APPLICABLE)

©

/

N

1.975 [50.16]

2.734 [69.44]

#0.650 [#16.51]

$0.620 [#15.75]

=S e — #0.350 [#8.89]
0]C)
) @) )

20.570 [¢14.48]

COMPRESSION INSERT TREE

0.906 [23.01]

V COVER HALVES

17

5 d

0.640 [16.26]

#4—40 X 1/2" FILLISTER HEAD CAPTIVE
MATERIAL — STEEL

FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)

QTY: 2 EACH

#4 SADDLE WASHER
MATERIAL — STEEL

REVISIONS

#4—40 X 7/16" FILUSTER HEAD MACHINE SCREW
MATERIAL — STEEL
FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH

Hf?l»o #2 BLANK HEX NUT

MATERIAL — STEEL
FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH

SCREW

ZONE REV DESCRIFTION DATE APPROVED
A | ECN 0553 20-MAY-05
B | ECN 0577 06-0CT-05
C {ECN 0599 10-AUG-06
NO LOGO NORTECH LOGO

R,

PART NUMBER INFORMATION

PART# LOGO STYLE SUPPLIED
A30E330000 |NO LOGO BULK
CBBE330000 [NO LOGO PACKAGED

A30E331000

NORTECH LOGO*| BULK

C88E331000

NORTECH LOGO*| PACKAGED

* — SPECIAL ORDER

CONNECTOR COVER:
1.MATERIAL: ABS COMPOUND — ULS4HB

2.FINISH: NICKEL PLATING PER NTC SPECIFICATION N/T 000500

3.DIMENSIONS: INCHES [MM]
4. TOLERANCE: £0.015 [0.381]

COMPRESSION INSERT TREE

1.MATERIAL: THERMOPLASTIC
2.COLOR: BLACK
3.DUROMETER: 75 5 TYPE A PER ASTM D2240

4.DIMENSIONS: INCHES

MM]

ITEM - CONTACT NORTHERN TECHNOLOGIES

5.TOLERANCE: *0.020 [0.508]

FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)

QTY: 2 EACH

UNLESS OTHERWISE

Northern

THIS DRAVDNG IS THE PROPERTY OF
NIRTHERN TECHNOLOGIES AND SHOULD




90.726 [#18.44] REVISIONS
ZONE REV DESCRIPTION DATE APPROVED
_ ' A | ECN 0553 20-MAY-05
B_| ECN 0577 06-0CT-05
C c |EcN 0559 10~AUG-06
2.406 [61.11]
LOGO AREA 0.940 [23.88]
(IF APPLICABLE)
.
@ NO LOGO NORTECH LOGO
= Yomens;
< 2,000 [50.80] \V COVER HALVES
/ A
/ \ —.\llf_ PART NUMBER INFORMATION
SUPPLIED
NS — 5 o] PARTH 10G0 STYLE
A30E340000 [NO LOGO BULK
mm.a [67.18] 0.770 [19.56] CBBE340000 |NO LOGO PACKAGED
A3DE341000 |NORTECH LOGO*| BULK
CBBE341000 {NORTECH LOGO*| PACKAGED

#4—40 X 7/18" FILLISTER HEAD MACHINE SCREW
MATERIAL — STEEL

FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH

Hf*?s #2 BLANK HEX NUT

MATERIAL — STEEL
FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH

90.425 {#10.80]

#0.650 [#16.51)

D YG

90.570 [#14.48]

90.620 [#15.75]

#4-40 X 1/2" FILLISTER HEAD CAPTIVE SCREW
MATERIAL — STEEL

FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH

$0.500 [612.70]

#4 SADDLE WASHER
MATERIAL — STEEL
FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)

% — SPECIAL ORDER ITEM - CONTACT NORTHERN TECHNOLOGIES

CONNECTOR COVER:

1.MATERIAL: ABS COMPOUND — UL94HB

2.FINISH: NICKEL PLATING PER NTC SPECIFICATION N/T 000500
3.DIMENSIONS: INCHES [MM]

4. TOLERANCE: 0.015 [0.381]

COMPRESSION INSERT TREE

1.MATERIAL: THERMOPLASTIC

2.COLOR: BLACK

3.DUROMETER: 75 5 TYPE A PER ASTM D2240
4.DIMENSIONS: INCHES [MM]

5.TOLERANCE: +0.020 [0.508]

COMPRESSION INSERT TREE QTY: 2 EACH UNLESS OTHERWISE Northern S -
DIMPLES: QTY. 1 SPECIFIED Technologi MRTIERN TEXNLOGES D SHOLD
..z.ruum-.uwaﬂzﬁ! ec 3000_0m TECHNDLOGTES WRITTEN PERMISSIIN,
72 7 D & DIVEISTINS MRE TYPIAL PART NUMBER SEE PART NUMBER INFORMATION
THS IS A CONTROLLED DOCUMENT AND 1S |DRAWN DESCRIPTION CMP 50 STR EXIT TWO PIECE
SUBJECT TO CHANGE. CONTACT NORTHERN JSD 10-FEB-05 METALIZED PLASTIC COVER
N, CINEERING FOR THE CHECKED SIZE [ CODE DWG NO. REV
zl & % s YL R SCN 10-FEB-05 | g 200_135 0002-200—135
ISSUED
10-FEB-05 [SCALE 1:1 SHEET 1 OF 1




1.217 [30.91]

#0.255 [6.4801

QTY. 1

¢0.400 [10.16]

1

il

0.984 [24.99]

LOGO AREA
(IF APPLICABLE)

1.575 [40.00]

COMPRESSION INSERT TREE

©0.210 [(5.3310]
#0.285 [7.2410]

90,315 [8.00]

WW i
SN

7, 7
41

0.640 [16.25]

V|oo<mm HALVES

#4~—40 X 7/16" FILLISTER HEAD MACHINE SCREW
MATERIAL — STEEL

FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH

uﬂ/*?s #2 BLANK HEX NUT

MATERIAL — STEEL

FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH

#4—40 X 1/2" FILLISTER HEAD CAPTIVE SCREW
MATERIAL — STEEL

FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH

#4 SADDLE WASHER

MATERIAL — STEEL

FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH

A30E201000 JNORTECH LOGO |BuLk
CB8E201000 [NORTECH LOGO |PACKAGED

CONNECTOR COVER:

1.MATERIAL: ABS COMPOUND - ULS4HB

2.FINISH: NICKEL PLATING PER NTC SPECIFICATION N/T 000500
3.DIMENSIONS: INCHES [MM]

4.TOLERANCE: 10.015 [0.381]

COMPRESSION INSERT TREE

1.MATERIAL: THERMOPLASTIC

2.COLOR: BLACK

3.DUROMETER: 75 +5 TYPE A PER ASTM D2240
4.DIMENSIONS: INCHES [MM]

S.TOLERANCE: +0.020 [0.508]

REVISIONS
ZONE REV DESCRIPTION DATE APPROVED

A | ECN 0553 20~-MAY-05
B ECN 0602 10~AUG-06
c ECN 0732 31-0CT-13

NO LOGO NORTECH LOGO

Norflors

L] [+=zs

PART NUMBER INFORMATION

PART# LOGO STYLE SUPPLIED

A30E200000 |NO LOGO BULK

C8B8E200000 |NO LOGO PACKAGED

UNLESS OTHERWISE
SPECIFIED

1 AL DMENSIONS ARE IN
INCHES (MM)
2. DIMENSIONS ARE TYPIGAL

Northern
Technologies

PART NUMBER SEE PART NUMBER INFORMATION

DRAWN DESCRIPTION CMP 09 45 DEGREE EXIT
Wcmwwoﬂﬁkﬂwrwwﬂﬁﬁwﬁm@wm JSD | 10-~FEB-05 TWO PIECE METALIZED PLASTIC COVER
CHECKED SIZE | CODE DWG NO. REV
LATEST REVISION. — —
SCN | 10-FEB-05 [y 200_136 0002—200—136
ISSUED _rEB—
10-FEB-05 |SeALE 1:1 SHEET 1 OF 1




1.312 [33.32] —

Z)

LOGO AREA
(IF APPLICABLE)

1.713 [43.51]

1.544 [39.24]—

#0.255 [6.48[1

#0210 [5.331[1

$0.285 [7.2410)
#0.320 [8.13I[]1 k @
du "~ H u

COMPRESSION INSERT TREE

®.315 (8,001

REVISIONS

ZONE REV DESCRIPTION DATE APPROVED
A | ECN 0553 20-MAY-05
B | ECN 0602 10-AUG-06

0.640 [16.24]

Vl COVER HALVES

FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH

W(*#IS X 7/16" FILLISTER HEAD MACHINE SCREW
MATERIAL - STEEL

#4—40 #2 BLANK HEX NUT
MATERIAL — STEEL

FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH

#4—40 X 1/2" FILLISTER HEAD CAPTIVE SCREW
MATERIAL - STEEL

FINISH ~ BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH

#4 SADDLE WASHER
MATERIAL — STEEL

FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH

NO LOGO NORTECH LOGO

L [===a]

PART NUMBER INFORMATION

PART# LOGQ STYLE SUPPLIED
A30E210000 [NO LOGO BULK
CBBE210000|NO LOGO PACKAGED
A30E211000 |NORTECH LOGO |BULK
C8BE211000 [NORTECH LOGO |PACKAGED

CONNECTOR COVER:
1.MATERIAL: ABS COMPOUND -~ UL94HB

2.FINISH: NICKEL PLATING PER NTC SPECIFICATION N/T 000500

3.DIMENSIONS: INCHES [MM]
4. TOLERANCE: +0.015 [0.381]

COMPRESSION INSERT TREE

1.MATERIAL: THERMOPLASTIC

2.COLOR: BLACK

3.DUROMETER: 75 +5 TYPE A PER ASTM D2240
4.DIMENSIONS: INCHES [MM]

5.TOLERANCE: +0.020 [0.508]

UNLESS OTHERWISE
SPECIFIED

Northern

L AL oS ARE B Technologies L R T
QTY. 1 2 %ﬁg
PART NUMBER SEE PART NUMBER INFORMATION
N I \— THS S A CONTROLLED poculexT ANp 15 [PRAWN DESCRIPTION CMP 15 45 DEGREE EXIT
— _ SUBIECT 0 GHANGE. CONTACT KORTHERN 10-FEB-05 TWO PIECE METALIZED PLASTIC GOVER
WHML CHECKED SIZE | CODE DWG NO. REV
LATEST REVISION. - —

SN SCN | 10-FEB-05 | " 200_137 0002-200—137

ISSUED 10-FEB-05  [scalE 1:1 SHEET 1 OF 1




$0.450 [11.43]1

90,410 [10.411

COMPRESSION INSERT TREE
QTY. 1

1.857 [47.17]

(1

#0.522 [13.26]

LOGO AREA
(IF APPLICABLE)

~

1.880 [47.75]

Q
\

n

|
2.090 [53.08] lll_

©0.370 [9.40]

@0.300 [7.62]

#0.230 [5.84]

ey )

REVISIONS

ZONE REV DESCRIPTION DATE APPROVED
A |EcN o553 20-MAY-05
B | ECN 0602 10~-AUG-06
! 1 0.710 [18.03]
| > ﬁ
NO LOGO  NORTECH LOGO

f
Vloosmx HALVES
rd

0.640 [15.26]

FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH

-~
\5
W/%ﬁlg X 7/16" FILLISTER HEAD MACHINE SCREW
MATERIAL -~ STEEL

#4-40 #2 BLANK HEX NUT

MATERIAL — STEEL

FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH

#4—40 X 1/2" FILLISTER HEAD CAPTIVE SCREW
MATERIAL - STEEL

FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH

#4 SADDLE WASHER
MATERIAL — STEEL
FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH

[ ] [==e]

PART NUMBER INFORMATION

PART# LOGO STYLE SUPPLIED
A30E220000 [NO LOGO BULK
CBBE220000 |NO LOGO PACKAGED
A30E221000 [NORTECH LOGO |BULK
CB8E221000 [NORTECH LOGO | PACKAGED

CONNECTOR COVER:

1.MATERIAL: ABS COMPOUND — UL94HB

2.FINISH: NICKEL PLATING PER NTC SPECIFICATION N/T 000500
3.DIMENSIONS: INCHES [MM]

4.TOLERANCE: +0.015 [0.381]

COMPRESSION INSERT TREE

1.MATERIAL: THERMOPLASTIC

2.COLOR: BLACK

3.DUROMETER: 75 +§ TYPE A PER ASTM D2240
4.DIMENSIONS: INCHES [MM]

S.TOLERANCE: +0.020 [0.508]

UNLESS OTHERWISE
SPECIFIED
L ALL DMENSIONS ARE IN
INCHES_(MM)
2 DIMENSIONS ARE TYPICAL

THIS DRAVING IS THE PROPERTY DF
MNIRTHERN TECHNOLOGIES AND SHIXLD
NOT BE REPROTUCED WITHOUT NORTHERN

Northern
Technologies

PART NUMBER SEE PART NUMBER INFORMATION

DRAWN DESCRIPTION CMP 25 45 DEGREE EXIT
THIS IS A CONTROLLED DOCUMENT AND IS
SUBJECT TO CHANGE. CONTACT NORTHERN JSD 10~FEB—05 TWO PIECE METALIZED PLASTIC COVER
D I \GINEERING FOR THE CHECKED SIZE | CODE DWG NO. REV
SCN 10-FEB-05 | B 200_138 0002~200-138
1SSU
ED 10—-FEB—05 | SCALE 1:1 SHEET 1 OF 1




} REVISIONS
! \\ \ > g ZONE | REV DESCRIFTION DATE APPROVED
_ A |ECN 0553 20-MAY-05
B | ECN 0602 10-AUG-06
2.500 [63.50]
#0.726 [18.44] L0GO. AREA
(F APPLICABLE) M 1-0.906 [23.01]
©) 'M . ~
/ 2.121 [53.87]
gl COVER HALVES NO LOGO  NORTECH LOGO
\ Northors
A | REE
L] N —= u_.\ll,m\ PART NUMBER INFORMATION
PARTE L0GO STYLE | SUPPLIED
0.640 [16.26] A30E230000 |NO_LOGO BULK
C8BE230000 [NO LOGO PACKAGED
2.734 [69.44] A30E231000 [NORTECH LOGO |guLK
CBBE231000 |NORTEGH LOGO | PACKAGED

#4—40 X 7/16" FILLISTER HEAD MACHINE SCREW
MATERIAL — STEEL

FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 3 EACH

uu/T!S #2 BLANK HEX NUT

MATERIAL — STEEL
FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 3 EACH

0.425 [#10.79]

#0.620 [¢15.75]

#0.650 [#16.51]

-,

#0.350 [¢8.89]

#4-40 X 1/2" FILLISTER HEAD CAPTIVE SCREW
MATERIAL — STEEL

FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH

80.500 [¢12.70] #0.570 [¢14.48]

#4 SADDLE WASHER
MATERIAL — STEEL
FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)

CONNECTOR COVER:

1.MATERIAL: ABS COMPOUND - UL94HB

2.FINISH: NICKEL PLATING PER NTC SPECIFICATION N/T 0C0500
3.DIMENSIONS: INCHES [MM]
4.TOLERANCE: £0.015 [0.381]

COMPRESSION INSERT TREE

1.MATERIAL: THERMOPLASTIC

2.COLOR: BLACK

3.DUROMETER: 75 +5 TYPE A PER ASTM D2240
4.DIMENSIONS: INCHES [MM]
5.TOLERANCE: +0.020 [0.508]

QTY: 2 EACH

UNLESS OTHERWISE

Northern

COMPRESSION INSERT TREE SPECIFIED . NOT BE REPRODUCED VITHIUT NIRTHERN
DIMPLES QTY. 1 _ e ._-OOT.DO_OQ_OW TECHMILDGIES VRITTEN PERMISSIIR
NCHES (M)
& b PART NUMBER SEE PART NUMBER INFORMATION
Y
] 7 % % 7 D 5 THIS IS A CONTROLLED DOCUMENT AND 5 |DRAWN 1o \0_ren—05 | DESCRIPTION CMP 37 45 DEGREE EXIT
%@ Bﬁmmoxm_zm_m mm.mu_%m_.a wzwﬂqumwz TWO PIECE METAUZED PLASTIC COVER
LATEST REVISION. OIMOXNUWOZ 10—FEB—05 SIZE | CODE DWG NO. REV
B 200139 0002~200—-139
=z 3 ] /7y 7 N ISSUED 10-FEB-05 [SoaF 1.1 _m:mﬂ 1 oF 1




\J.IJ REVISIONS
i \\ \ \N/ ZoNE | Rev DESCRIPTION DATE APPROVED
a |ECN 0553 20-MAY—05
B | ECN 0602 10-AUG-06
2.500 [63.50]
¢0. y
0.726 [18.44] L0GO AREA _
\! (IF APPLICABLE) 0.906 [23.01]
/ { \
© ) ~
/ 2.121 [53.87]
g ™ COVER HALVES NO LOGO  NORTECH LOGO
\ Northora
A | RE=S
. 17 PART NUMBER INFORMATION
T\ f L5 [
PARTH LOGO STYLE | SUPPLIED
0.640 [16.26] ASOE230000 |NO_LOGO BULK
CBBE230000|NO_LOGO PACKAGED
2.734 [69.44] ASOE231000 |NORTECH LOGO | BULK
C88E231000 |NORTECH LOGO | PACKAGED

#4-~40 X 7/16" FILLSTER HEAD MACHINE SCREW
MATERIAL — STEEL

FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 3 EACH

Q/*TS #2 BLANK HEX NUT

MATERIAL — STEEL
FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 3 EACH

#0.425 [#10.79]

#0.620 [#15.75]

#0.650 [#16.51

-,

¢0.350 [¢8.89]

#4—40 X 1/2° FILLSTER HEAD CAPTIVE SCREW
MATERIAL — STEEL

FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH

#0.500 [#12.70] $0.570 [#14.48]

#4 SADDLE WASHER
MATERIAL — STEEL
FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)

CONNECTOR COVER:

1.MATERIAL: ABS COMPOUND — UL94HB

2.FINISH: NICKEL PLATING PER NTC SPECIFICATION N/T 000500
3.DIMENSIONS: INCHES [MM]

4. TOLERANCE: £0.015 [0.381]

COMPRESSION INSERT TREE

1.MATERIAL: THERMOPLASTIC

2.COLOR: BLACK

3.DUROMETER: 75 +5 TYPE A PER ASTM D2240
4.DIMENSIONS: INCHES [MM]
5.TOLERANCE: +0.020 [0.508]

QTY: 2 EACH
UNLESS OTHERWISE

THIS IRAVING IS THE PROPERTY OF
NORTHERN TECHNILDGIES AND SHOULD

Northern

COMPRESSION INSERT TREE SPECIFIED . NIT BE REPRODUCED VITHOUT NORTHERN
DIMPLES QTY. 1 L ALD m25m S ARE I ;—.00730_00_0m TECHERDGIES VRITTEN PERMISSIDN
INCHES
& il PART NUMBER SEE PART NUMBER INFORMATION
2 Yres % % THIS 1S A CONTROLLED DOCUMENT AND (6 |DRAWN Jor DESCRIFTION CMP 37 45 DEGREE EXIT
SUBJECT 10 CHANGE. CONTACT NORTHERN 10-FEB-05 TWO PIECE METALIZED PLASTIC COVER
LATEST REVISION. OImoxmcmoz 10—FEB-05 SIZE { CODE DWG NO. REV
7 B 200_138 0002-200—139
7| 7 7% A N ISSUED 10-FEB—05 [Soar 141 SHEET 1 OF 1




REVISIONS
ZONE | REV DESCRIPTION DATE APPROVED
A | ECN 0531 06-MAY-05
\I&Paoo [#10.16] B | ECN 0600 10-AUG-06
| |-0.984 [24.99] C | ECN o628 24-JAN-07
D | ECN 0643 24-JAN-08
E ECN 0644 08-FEB~08

0616 [15.65]
LOGO ARFA ~
(IF APPLICABLE)
[®) ®) COVER HALVES
1.465 [37.21] >
0.222 Hm.m.a. A
— 0.150 [3.81
T > N
0.250 Hm.u.&l_ ju— ! b U #4—40 X 7/16" FILLSTER HEAD MACHINE SCREW
MATERIAL — STEEL NO LOGO NORTECH LOGO
l-—1.230 [31.24]— FINISH — BRIGHT ZINC
QTY: 2 EACH o
H/I?Lb #2 BLANK HEX NUT
MATERIAL — STEEL .
FINISH — BRIGHT ZINC mo_“_,“_qmw_m_w Mﬂﬁm.ﬂ.:b«
QTY: 2 EACH . :
#0255 [6.4801 @0.210 [5.331] 2.FINISH: BRIGHT ZINC PLATING PER NTC SPECIFICATION N/T 000100
90,285 [7.2431 3.DIMENSIONS: INCHES [MM]
’ ! FILLISTER HEAD CAPTIVE SCREW 4.TOLERANCE: +0.015 [0.381]
HEAD STYLE — SEE PAGE 2
MATERIAL — SEE PAGE 2
90.315 18.001 FINISH ~ SEE PAGE 2
QTY: 2 EACH COMPRESSION INSERT TREE
1.MATERIAL: THERMOPLASTIC
2.COLOR: BLACK
#4 SADDLE WASHER 3.DUROMETER: 75 5 TYPE A PER ASTM D2240
MATERIAL — STEEL 4.DIMENSIONS: INCHES [MM]
FINISH — BRIGHT ZINC 5. TOLERANCE: +0.020 [0.508]
QTY: 2 EACH :
COMPRESSION INSERT TREE
QrY. 1 UNLESS OTHERWISE ZOﬂ.ﬁJQ_‘: THIS DRAVING IS THE PRIPERTY DF
SPECIFIED . NIT B REPRIDED. VITAAY SRIFERN
-_-GO—._DO_OQ_QW TECHVOLOGIES WRITTEN PERMISSION.
N NI [\ q = 1 AL i‘.ﬂeﬁﬂ ARE IN
— _ r _ _ _ ® DRISIING MRS TIPICAL PART NUMBER SEE PART NUMBER INFORMATION
N & N DRAWN DESCRIPTION
Ysp 20—MAR—05 CM 09 METAL COVER
THIS IS A CONTROLLED DOCUMENT AND iS CHECKED SIZE | CODE DWG NO. REV
SUBJECT TO CHANGE. CONTACT NORTHERN SCN 20—MAR-05 B 200_101 0002-200-101
TECHNOLOGIES ENGINEERING FOR THE 1SSUED
LATEST REVISION. 20-MAR-05 [SCALE N.T.S. SHEET 1 OF 2




PART NUMBER INFORMATION

PARTH WITH #4—40 X 1/2" CAPTIVE SCREWS (SLOT HEAD) SUPPLIED
A29E821093 NO LOGO COVER TOP BULK
A29F921090 NORTECH LOGO COVER TOP BULK
A30E100100 COVER BOTTOM BULK
C8B8EC00209 NO LOGO PACKAGED
CBBEODD218 NORTECH LOGO PACKAGED
PART# WITH #l4—40 X 7/16" CAPTIVE SCREWS (SLOT HEAD) SUPPLIED
A29E8210931 NO LOGO COVER TOP BULK
A29E9210901 NORTECH LOGO COVER TOP BULK
A30E100100 COVER BOTTOM BULK
CBBEODD2091 NO LOGO PACKAGED
CBBE0002181 NORTECH LOGO PACKAGED
PART# WITH M2.5 X 12.7MM CAPTIVE SCREWS (SLOT HEAD) SUPPLIED
A29EB21093M255 | NO LOGO COVER TOP BULK
A29E921090M25S | NORTECH LOGO COVER TOP BULK
A3DE100100 COVER BOTTOM BULK
CBBEODO209M255 | NO LOGO PACKAGED
CBBEOD0218M255 | NORTECH LOGO PACKAGED
PART# WITH M2.6 X 12.7MM CAPTIVE SCREWS (SLOT HEAD) SUPPLIED
A29EB21093M26S | NO LOGO COVER TOP BULK
A29E921090M265 | NORTECH LOGO COVER TOP BULK
A30E100100 COVER BOTTOM BULK
CBBEODO209M265 | NO LOGO PACKAGED
CBBEOD0218M26S | NORTECH LOGO PACKAGED
PART# WITH M3 X 12.7MM_CAPTVE SCREWS (SLOT HEAD) SUPPLIED
A29EB21093M3S | NO LOGO COVER TOP BULK
A29E921090M3S | NORTECH LOGO COVER TOP BULK
A30E100100 COVER BOTTOM BULK
CBBEQD0209M3S | NO LOGO PACKAGED
CBBEO00218M3S | NORTECH LOGO PACKAGED
PART WITH #4-40 X 1/2° CAPTIVE SCREWS (PHILLIPS HEAD) | SUPPLIED
A29E821093PS NO LOGO COVER TOP BULK
A29E921090PS NORTECH LOGO COVER TOP BULK
A30E100100 COVER BOTTOM BULK
CBBEOD0209PS NO LOGO PACKAGED
CBBEO00218PS NORTECH LOGO PACKAGED

THIS S A CONTROLLED DOCUMENT AND IS
SUBJECT TO CHANGE. CONTACT NORTHERN
TECHNOLOGIES ENGINEERING FOR THE
LATEST REVISION.

REVISIONS

ZONE REV DESCRIPTION DATE APPROVED
FILLISTER HEAD CAPTIVE SCREW
THREAD LENGTH HEAD
PPN B SHLE MATERIAL PLATING
#4-40 UNC 172 INCH sLorT COLD ROLL STEEL ZINC
B #4-40 UNC | 7/16 INCH SLaT COLD ROLL STEEL ZING
M25 X .45MM | 127 MM sLoT LOW CARBON STEEL| ZINC
M2.6 X .45MM |12.7 MM sLoT LOW CARBON STEEL| zINC
A M3 X .5MM 12.7 MM sLoT LOW CARBON STEEL| ZINC
#4-40 UNC | 172 INCH PHILLIPS [LOW CARBON STEEL [ ZINC
SLOT HEAD
(TOP VIEW)
PHILLIPS HEAD
(TOP VIEW)
UNLESS OTHERWISE Northern THIS IRAVING IS THE PROPERTY F

SPECIFIED

L ALL DMENSIONS ARE N
INCHES v

2, DIMENSIONS ARE TYPICAL

Technologies

NORTHERN TECHNOLOGIES AND SHOWLD

NOT 3E REPRODUCED WITHOUT NIRTHERN
TECHNOLOMES WRITTEN PERMISSIDN

PART NUMBER SEE PART NUMBER INFORMATION

DRAWN DESCRIPTION
Ysp 20— MAR—05 CM 0S METAL COVER
CHECKED SIZE | CODE DWG NO. REV
SCN | 20-MAR-05 | g 200_101 0002-200-101
e 20-MAR-05 | SCALE NTS SHEET 2 OF 2




1312 £33.32]1—

—T |

0.220 [5.60] .

0.250 [6.35]

#0.255 [6.480]

0,320 813101

in
J

——1.540 (39111 —

~

vd

1600 [40.64]

©0.400 [10.10]

-

QY. 1

7

7.

COMPRESSION INSERT

TREE

#0,210 [S.3310]

s

L —LOGO AREA
(IF APPLICABLE)

0.150 [3.81]
-

90285 [7.241[1

#0.315 [8.00]

REVISIONS
ZONE REV DESCRIPTION DATE APPROVED
A | ECN 0531 06-MAY-05
B | ECN 0600 10-AUG-06
C | ECN 0628 24-JAN-07
D | ECN 0643 24-JAN-08
E | ECN 0644 08~-FEB-08
0.620 [15.751
COVER HALVES

#4~40 X 7/167 FILLISTER HEAD MACHINE SCREW

MATERIAL — STEEL NO LOGO NORTECH LOGO

FINISH — BRIGHT ZINC

QTY: 2 EACH Jecpens

H/T:S #2 BLANK HEX NUT

MATERIAL — STEEL
FINISH — BRIGHT ZINC
QTY: 2 EACH

FILLISTER HEAD CAPTIVE SCREW
HEAD STYLE — SEE PAGE 2
MATERIAL ~ SEE PAGE 2
FINISH ~ SEE PAGE 2

QTY: 2 EACH

#4 SADDLE WASHER
MATERIAL — STEEL
FINISH — BRIGHT ZINC
QTY: 2 EACH

CONNECTOR COVER:

1.MATERIAL: ZINC ALLOY

2.FINISH: BRIGHT ZINC PLATING PER NTC SPECIFICATION N/T 000100
3.DIMENSIONS: INCHES [MM]

4 TOLERANCE: +0.015 [0.381]

COMPRESSION INSERT TREE

1.MATERIAL: THERMOPLASTIC

2.COLOR: BLACK

3.DUROMETER: 75 5 TYPE A PER ASTM D2240
4.DIMENSIONS: INCHES [MM]

5.TOLERANCE: +0.020 [0.508]

UNLESS OTHERWISE
SPECIFIED
L AL DMENSIONS ARE N
INCHES (W)
2 DIMENSIONS ARE TYPICAL

Northern
Technologies

PART NUMBER  SEE PART NUMBER INFORMATION
DRAWN DESCRIPTION CM 15 METAL COVER
DUBEer 10 CHANGE. CONIALT NORIHERR o:mn_m_mw% 20-MAR=0S SIZE | CODE DWG NO REV
TECHNOLOGIES ENGINEERING FOR THE N
LATEST REVISION. SCN 20-MAR-05 | B 200102 0002-200-102
ISSUED 20-MAR-05 [SCALE NTS SHEET 1 OF 2




PART NUMBER INFORMATION

PART# WITH #4—40 X 1/2" CAPTIVE SCREWS (SLOT HEAD) SUPPLIED
A29E821153 NO LOGO COVER TOP BULK
A20E921150 NORTECH LOGO COVER TOP BULK
A30E110100 COVER BOTTOM BULK
C8BE000211 NO LOGO PACKAGED
C88E000207 NORTECH LOGO PACKAGED
PART# WITH #4—40 X 7/16" CAPTIVE SCREWS (SLOT HEAD) SUPPLIED
A29E8211531 NO LOGO COVER TOP BULK
A29E9211501 NORTECH LOGO COVER TOP BULK
A30E110100 COVER BOTTOM BULK
C88EQC002111 NO LOGO PACKAGED
C8BEC002071 NORTECH LOGO PACKAGED
PART# WITH M2.5 X 12.7MM CAPTIVE SCREWS (SLOT HEAD) SUPPLIED
A29E821153M25S | NO LOGO COVER TOP BULK
A29F921150M25S | NORTECH LOGO COVER TOP BULK
A30E110100 COVER BOTTOM BULK
C88F000211M25S | NO_LOGO PACKAGED
C88E000207M25S8 | NORTECH LOGO PACKAGED
PART# WITH M2.6 X 12.7MM CAPTIVE SCREWS (SLOT HEAD) SUPPLIED
A29EB21153M26S | NC LOGO COVER TOP BULK
A29F921150M26S | NORTECH LOGO COVER TOP BULK
A30E110100 COVER BOTTOM BULK
CBBE000211M26S | NO LOGO PACKAGED
C88E000207M26S | NORTECH LOGO PACKAGED
PART# WITH M3 X 12.7MM CAPTIVE SCREWS (SLOT HEAD) SUPPLIED
A28E821153M3S NO LOGO COVER TOP BULK
A29E921150M3S NORTECH LOGO COVER TOP BULK
A30E110100 COVER BOTTOM BULK
CBBEQ00211M3S NO LOGO PACKAGED
C88EQ0D207M3S NORTECH LOGO PACKAGED
PART# WITH #4—-40 X 1/2° CAPTIVE SCREWS (PHILLIPS HEAD) SUPPLIED
A29E821153PS NO LOGO COVER TOP BULK
A29E921150PS NORTECH LOGO COVER TOP BULK
A30E110100 COVER BOTTOM BULK
CBBEO00211PS NO LOGO PACKAGED
CB8EDQ0D207PS NORTECH LOGO PACKAGED

THIS IS A CONTROLLED DOCUMENT AND IS
SUBJECT TO CHANGE. CONTACT NORTHERN
TECHNOLOGIES ENGINEERING FOR THE

LATEST REVISION.

REVISIONS

FILLISTER HEAD CAPTIVE SCREW

()
|
y

SLOT HEAD
(TOP VIEW)

PHILLIPS HEAD
(TOP VIEW)

B

ZONE REV DESCRIPTION DATE APPROVED
THREAD LENGTH HEAD
e o STYLE MATERIAL PLATING
#4-40 UNC  |1/2 INCH sLoT COLD ROLL STEEL ZINC
#4-40 UNC 7/16 INCH sSLaT COLD ROLL STEEL ZINC
M2.5 X 45MM [ 127 MM sLOT LOW CARBON STEEL| ZINC
M26 X 45MM [127 MM sLOT LOW CARBON STEEL| zInc
M3 X .SMM 127 MM sLart LOW CARBON STEEL| zZINC
#4-40 UNC [ 1/2 INCH PHILLIPS [LOW CARBON STEEL| ZINC
UNLESS OTHERWISE Northern THIS DRAVING IS THE PROPERTY IF
SPECIFIED Technoloai NOT 3. REPRNCED VITHAY NROPERN
L AL OMENSONS ARE N echnologies TECHMBLOGIES WRITTEN PERMISSIIN
2 E—ngwaﬁ;
PART NUMBER SEE PART NUMBER INFORMATION
DRAWN DESCRIPTION CM 15 METAL COVER
JsD 20-MAR-05
CHECKED SIZE | CODE DWG NO. REV
SCN 20-MAR-05 | g 200_102 0002—200-102
ISSUED 20~MAR—05
SCALE NTS SHEET 2 OF 2




0.215 [5.46]

(;
\

91.857 [47.17]

#0.525 [13.33]

LOGO AREA
(IF APPLICABLE)

0.250 [6.35]—

1.550 [39.37]

- 0.150 [3.81]

2.090 [53.08)

#0.370 [9.40]

0,410 [10.411

90,450 [11.43]

v

COMPRESSION INSERT TREE
QrY. 1

0.620 [15.75]

$0.300 [7.62]

N
N

%

)

80,230 [5.84]

0.690 [17.52]

COVER HALVES

FINISH — BRIGHT ZINC
QTY: 2 EACH

W/*Alho X 7/16" FILLUSTER HEAD MACHINE SCREW
MATERIAL — STEEL

#4—40 #2 BLANK HEX NUT

MATERIAL — STEEL
FINISH ~ BRIGHT ZINC
QTY: 2 EACH

FILLISTER HEAD CAPTIVE SCREW

HEAD STYLE — SEE

PAGE 2

MATERIAL — SEE PAGE 2

FINISH — SEE PAGE
QTY: 2 EACH

#4 SADDLE WASHER
MATERIAL — STEEL

QTY: 2 EACH

2

FINISH — BRIGHT ZINC

REVISIONS
ZONE REV DESCRIPTION DATE APPROVED
A | ECN 0531 06-MAY-05
B ECN 0600 10-AUG-06
c ECN 0628 24-~JAN-07
D | ECN 0643 24-JAN-08
E ECN 0644 08-FEB-08
NO LOGO NORTECH LOGO
2

CONNECTOR COVER:

1.MATERIAL: ZINC ALLOY

2.FINISH: BRIGHT ZINC PLATING PER NTC SPECIFICATION N/T 000100
3.DIMENSIONS: INCHES [MM]

4.TOLERANCE: +0.015 [0.381]

COMPRESSION INSERT TREE

1.MATERIAL: THERMOPLASTIC

2.COLOR: BLACK

3.DUROMETER: 75 5 TYPE A PER ASTM D2240
4.DIMENSIONS: INCHES [MM]

5.TOLERANCE: +0.020 [0.508]

UNLESS OTHERWISE
SPECIFIED

L AL DDJENSIONS ARE N
INCHES (M)
2 DIMENSIONS ARE TYPICAL

Northern
Technologies

THIS IS A CONTROLLED DOCUMENT AND IS
SUBJECT TO CHANGE. CONTACT NORTHERN
TECHNOLOGIES ENGINEERING FOR THE

LATEST REVISION.

PART NUMBER SEE PART NUMBER INFORMATION
DRAWN DESCRIPTION CM 25 METAL COVER
SD 20~MAR=05
CHECKED SIZE [ CODE BWG NO. REV
scN | 20-MAR-05 | g 200_103 0002-200-103
1SSUED
20-MAR-05 |scAlE NTS SHEET 1 OF 2




PART NUMBER INFORMATION

PART# WITH #4—40 X 1/2" CAPTVE SCREWS (SLOT HEAD) SUPPLIED
A29E821255 NO LOGO COVER TOP BULK
A29E921250 NORTECH LOGO COVER TOP BULK
A30E120100 COVER BOTTOM BULK
CBBED00204 NO LOGO PACKAGED
CBBE000203 NORTECH LOGO PACKAGED
PART# WITH #4—40 X 7/16" CAPTIVE SCREWS (SLOT HEAD) SUPPUED
A29EB212551 NO LOGO COVER TOP BULK
A29E9212501 NORTECH LOGO COVER TOP BULK
A30E120100 COVER BOTTOM BULK
C8BE00D2041 NO LOGO PACKAGED
C8BED002031 NORTECH LOGO PACKAGED
PART# WITH M2.5 X 12.7MM CAPTIVE SCREWS (SLOT HEAD) SUPPLIED
A29EB21255M25S | NO LOGO COVER TOP BULK
A28E921250M25S | NORTECH LOGO COVER TOP BULK
A30E120100 COVER BOTTOM BULK
C88ED00204M25S | NO LOGO PACKAGED
CBBE0D00203M25S | NORTECH LOGO PACKAGED
PART# WITH M2.6 X 12.7MM CAPTVE SCREWS (SLOT HEAD) SUPPLIED
A29EB21255M26S | NO LOGO COVER TOP BULK
A29E921250M265 | NORTECH LOGO COVER TOP BULK
A30E120100 COVER BOTTOM BULK
CBBEO0D204M26S | NO LOGO PACKAGED
CBBEOOD203M26S | NORTECH LOGO PACKAGED
PART# WITH M3 X 12.7MM CAPTIVE SCREWS (SLOT HEAD) SUPPLIED
A29EB21255M3S | NO LOGO COVER TOP BULK
A29E921250M3S | NORTECH LOGO COVER TOP BULK
A30E120100 COVER BOTTOM BULK
CBBEOD0204M3S | NO LOGO PACKAGED
CBBEODD203M3S | NORTECH LOGO PACKAGED
PART# WITH #4—40 X 1/2" CAPTVE SCREWS (PHILLIPS HEAD) | SUPPLED
A29EB21255PS NO LOGO COVER TOP BULK
A20E921250PS NORTECH LOGO COVER TOP BULK
A30E120100 COVER BOTTOM BULK
C8BEQ0D204PS NO LOGO PACKAGED
CBBEODD203PS NORTECH LOGO PACKAGED

THIS IS A CONTROLLED DOCUMENT AND IS
SUBJECT TO CHANGE. CONTACT NORTHERN
TECHNOLOGIES ENGINEERING FOR THE

LATEST REVISION.

REVISIONS

FILLISTER HEAD CAPTIVE SCREW

] (G (B>
#4-40 UNC 1/2 INCH
B #4-40 UNC 7/16 INCH

M25 X 45MM | 127 MM

M2,6 X 45MM [ 12,7 MM

A M3 X .SMM 127 MM

sLoT xﬂo\@
(TOP VIEW)

PHILLIPS HEAD
(TOP VIEW)

ZONE REV DESCRIPTION DATE APPROVED
THREAD LENGTH HEAD

STYLE MATERIAL PLATING
sLat COLD ROLL STEEL ZINC
sLoT COLD ROLL STEEL ZINC
sLoT LOW CARBON STEEL|  ZINC
sLOT LOW CARBON STEEL| zINC
sLaT LOW CARBON STEEL| zINne

#4-40 UNC | 1/2 INCH PHILLIPS |LOW CARBON STEEL | ZINC

UNLESS OTHERWISE Northern THIS DRAVING IS THE PROPERTY OF
SPECIFIED Technologi MY M REPRTCED GATIEN, Nt
L AL \S ARE N ogies TECHNOLOGIES WRITTEN PERMISSIN
- —
PART NUMBER  SEE PART NUMBER INFORMATION
DRAWN DESCRIPTION ¢M 25 METAL COVER
JSD 20-MAR—05
CHECKED SIZE | CODE DWG NO. REV
seN | 20-MAR-GS [ g 200_103 0002-200-103
ISSUED
20—-MAR-05 |SCALE NTS SHEET » OF 2




#0.726 [18.44]

2.500 [63.50]

LOGO AREA
Y APPLICABLE)
© ©
X Y7 1.800 [45.72]
0.215 [5.46] 7~
— U —0.150 [3.81]
0.250 [6.35]— N ——
2.730 [69.34] _

90.425 [#10.80]

90.650 [#16.51] #0.620 [#15.75]

() @) () @)

90.500 [¢12.70] $0.570 [#14.48]

COMPRESSION INSERT TREE

DIMPLES QTY. 1

7 7 7 7

777 vz

N
AN

REVISIONS
ZONE REV DESCRIPTION DATE APPROVED
A | ECN 0531 06-MAY—05
B | ECN 0600 10-AUG-06
c |Ecn oees 24-JAN-07
D | ECN 0643 24-JAN-08
0.864 [21.94] E | ECN 0644 08-FEB-08
COVER HALVES
0.620 [15.75]
#4-40 X 7/16" FILUSTER HEAD MACHINE SCREW
MATERIAL — STEEL NO LOGO NORTECH LOGO

FINISH — BRIGHT ZINC
QTY: 2 EACH

H/TLO #2 BLANK HEX NUT

MATERIAL — STEEL
FINISH ~ BRIGHT ZINC
QTY: 2 EACH

FILLISTER HEAD CAPTIVE SCREW
HEAD STYLE — SEE PAGE 2
MATERIAL — SEE PAGE 2
FINISH — SEE PAGE 2

QTY: 2 EACH

#4 SADDLE WASHER
MATERIAL — STEEL
FINISH — BRIGHT ZINC
QTY: 2 EACH

e

CONNECTOR COVER:
1.MATERIAL: ZINC ALLOY

2,FINISH: BRIGHT ZINC PLATING PER NTC SPECIFICATION N/T 000100

3.DIMENSIONS: INCHES [MM]
4. TOLERANCE: £0.015 [0.381]

COMPRESSION INSERT TREE

1.MATERIAL: THERMOPLASTIC
2.COLOR: BLACK

3.DUROMETER: 75 %5 TYPE A PER ASTM D2240

4.DIMENSIONS: INCHES [MM]
5.TOLERANCE: :£0.020 [0.508]

UNLESS OTHERWISE
SPECIFIED
L AL DMENSIONS ARE N
INCHES (0)
2 DIMENSIONS ARE TYPICAL

Northern
Technologies

PART NUMBER  SEE PART NUMBER INFORMATION

DRAWN DESCRIPTION CM 37 METAL COVER
JSD 20—-MAR—-05
THIS IS A CONTROLLED DOCUMENT AND s |CHECKED SIZE [ CODE DWG NO.
SUBJECT TO CHANGE. CONTACT NORTHERN SCN 20-MAR-0S | B 200_104 0002—-200-104
TECHNOLOGIES ENGINEERING FOR THE

LATEST REVISION. ISSUED

REV

20-MAR-05 |SCALE NTS

SHEET 1 OF 2




PART NUMBER INFORMATION

PART# WITH #4-40 X 1/2" CAPTIVE SCREWS (SLOT HEAD) SUPPUED
A29E821373 NO LOGO COVER TOP BULK
A29E021370 NORTECH LOGO COVER TOP BULK
A30E130100 COVER BOTTOM BULK
C88E000210 NO LOGO PACKAGED
C88E000206 NORTECH LOGO PACKAGED
PART# WITH #4—40 X 7/16” CAPTIVE SCREWS (SLOT HEAD) SUPPLIED
A29E8213731 NO LOGO COVER TOP BULK
A29E9213701 NORTECH LOGO COVER TOP BULK
A30E130100 COVER BOTTOM BULK
CBBE0002101 NO LOGO PACKAGED
CBBE0D02061 NORTECH LOGO PACKAGED
PART# WITH M2.5 X 12.7MM CAPTIVE SCREWS (SLOT HEAD) SUPPLIED
A20EB21373M25S | NO LOGO COVER TOP BULK
A29E921370M25S | NORTECH LOGO COVER TOP BULK
A30E130100 COVER BOTTOM BULK
C88ECD0210M25S | NO LOGO PACKAGED
CBBE0D0206M255 | NORTECH LOGO PACKAGED
PART# WITH M2.6 X 12.7MM CAPTIVE SCREWS (SLOT HEAD) SUPPLIED
A29EB21373M26S | NO LOGO COVER TOP BULK
A29F921370M26S | NORTECH LOGO COVER TOP BULK
AJ0E130100 COVER BOTTOM BULK
CBBEOO0210M265 | NO LOGO PACKAGED
C8BEQ00206M26S | NORTECH LOGO PACKAGED
PART# WITH M3 X 12.7MM CAPTIVE SCREWS (SLOT HEAD) SUPPLIED
A29E821373M3S NO LOGO COVER TOP BULK
A29E921370M3S NORTECH LOGO COVER TOP BULK
A30E130100 COVER BOTTOM BULK
C88E000210M3S NO LOGO PACKAGED
CBBE000206M3S NORTECH LOGO PACKAGED
PART# WITH #4—40 X 1/2" CAPTIVE SCREWS (PHILLIPS HEAD) SUPPLIED
A29E821373PS NO LOGO COVER TOP BULK
A29E921370PS NORTECH LOGO COVER TOP BULK
A30E130100 COVER BOTTOM BULK
CB8BE0D0210PS NO LOGO PACKAGED
CBBE000206PS NORTECH LOGO PACKAGED

THIS IS A CONTROLLED DOCUMENT AND (5
SUBJECT TO CHANGE. CONTACT NORTHERN
TECHNOLOGIES ENGINEERING FOR THE
LATEST REVISION.

REVISIONS

FILLISTER HEAD CAPTIVE SCREW

()

J

SLOT HEAD
(TOP VIEW)

PHILLIPS HEAD
(TOP VIEW)

ZONE REV DESCRIPTION DATE APPROVED
THREAD LENGTH JEAD. MATERTAL PLATING
#4-40 UNC__ |1/2 INCH SLOT COLD ROLL STEEL ZINC
#4-40 UNC _ |7/16 INCH SLOT COLD ROLL STEEL ZINC
M25 X .45MM | 127 MM sLoT LOW CARBON STEEL| ZINC
M2.6 X .45MM | 127 MM SLoT LOW CARBON STEEL| ZINC
M3 X .5MM 127 MM sLoT LOW CARBON STEEL| ZINC
#4-40 UNC | 172 INCH PHILLIPS |LOW CARBON STEEL] ZINC

UNLESS OTHERWISE
SPECIFIED
1 AL DMENSIONS ARE N
INCHES [}
2. DIMENSIONS ARE TYPICAL

Northern
Technologies

PART NUMBER SEE PART NUMBER INFORMATION

DRAWN DESCRIPTION CM 37 METAL COVER
Jsp 20-MAR—05
CHECKED SIZE | CODE DWG NO. REV
SCN 20-MAR-05 | B 200_104 0002-200-104
ISSUED
20-MAR—05 |[SCALE NTS SHEET 2 OF 2




0.215 [5.46]

20.726 [18.44]

)
)

ﬂw.sm [61.11]

LOGO

AREA

(IF APPLICABLE)

—~
o\

|

[

0.250 [6.35] \A_.!

0.425 [¢10.79]

#0.500 [#12.

Z4

1.800 [45.72]

- 0-150 [3.81]

2.626 [66.70]

20.620

#0.650 [616.51]

B

[#15.75]

0.864 [21.94]

N

70] 80.570 [#14.48]
COMPRESSION INSERT TREE
IMPLES: QTY. 1
Drrrrrn, B %
7] 7 & Lz R Z

0.350 [¢8.89]

0.730 [18.54]

V\nos.”m HALVES

#4—40 X 7/16" FILUSTER HEAD MACHINE SCREW

MATERIAL — STEEL

FINISH — BRIGHT ZINC

QTY: 2 EACH

Hf

MATERIAL — STEEL

f#4—40 #2 BLANK HEX NUT

FINISH — BRIGHT ZINC

QTY: 2 EACH

FILLISTER HEAD CAPTIVE SCREW
HEAD STYLE — SEE PAGE 2
MATERIAL — SEE PAGE 2
FINISH — SEE PAGE 2

QTY: 2 EACH

QTY: 2 EACH

THIS IS A CONTROLLED DOCUMENT AND IS
SUBJECT TO CHANGE. CONTACT NORTHERN
TECHNOLOGIES ENGINEERING FOR THE
LATEST REVISION.

#4 SADDLE WASHER
MATERIAL — STEEL
FINISH — BRIGHT ZINC

REVISIONS
ZONE | REV DESCRIPTION DATE APPROVED
A | ECN 0S31 06-MAY-05
B | ECN 0600 10-AUG-06
C | ECN 0628 24-JAN-07
D | ECN 0643 24-JAN-08
E ECN 0644 08-FEB-08
NO LOGO NORTECH LOGO

e

CONNECTOR COVER:

1.MATERIAL: ZINC ALLOY

2.FINISH: BRIGHT ZINC PLATING PER NTC SPECIFICATION N/T 000100
3.DIMENSIONS: INCHES [MM]

4.TOLERANCE: +0.015 [0.381]

COMPRESSION INSERT TREE

1.MATERIAL: THERMOPLASTIC

2.COLOR: BLACK

3.DUROMETER: 75 +5 TYPE A PER ASTM D2240
4.DIMENSIONS: INCHES [MM]
5.TOLERANCE: :0.020 [0.508]

UNLESS OTHERWISE Northern THIS IRAVING IS THE PROPERTY OF
SPECIFIED Technologi AGT 3% REPREMICED. VITHAY FERM
L AL DMENSIONS ARE N ec JOOQ_OW TECHMOLOGIES WRITTEN FERMISSION.
- e e
PART NUMBER  SEE PART NUMBER INFORMATION
DRAWN DESCRIPTION CM 50 METAL COVER
JSD 22—JAN—-02
CHECKED SIZE | CODE DWG NO. REV
SCN 12-FEB-02 | g 200_105 0002-200—105
ISSUED
12-FEB-02 |[SCALE NTS SHEET 1 oF 2




PART NUMBER INFORMATION

PART# WITH #4-40 X 1/2" CAPTIVE SCREWS (SLOT HEAD) SUPPLIED
A29EB21503 NO LOGO COVER TOP BULK
A29F921500 NORTECH LOGO COVER TOP BULK
A3DE140100 COVER BOTTOM BULK
CBBEOD0212 NO LOGO PACKAGED
C8BEO00208 NORTECH LOGO PACKAGED
PART# WITH #4-40 X 7/16” CAPTIVE SCREWS (SLOT HEAD) SUPPLIED
A29E8215031 NO LOGO COVER TOP BULK
A29£9215001 NORTECH LOGO COVER TOP BULK
A3DE140100 COVER BOTTOM BULK
CBBE0002121 NO LOGO PACKAGED
CBBEO002081 NORTECH LOGO PACKAGED
_u>x._.* WITH M2.5 X 12.7MM CAPTIVE SCREWS Am_.o._. HEAD) SUPPLIED
A29EB21503M255 | NO LOGO COVER TOP BULK
A29E921500M258 NORTECH LOGO COVER TOP BULK
A30E140100 COVER BOTTOM BULK
CBBEO00212M255 NO LOGO PACKAGED
CBBED00208M25S | NORTECH LOGO PACKAGED
PARTH WITH M2.6 X 12.7MM CAPTIVE SCREWS (SLOT HEAD) SUPPLIED
A29EB21503M265 | NO LOGO COVER TOP BULK
A29E921500M265 | NORTECH LOGO COVER TOP BULK
A30E140100 COVER BOTTOM BULK
CBBE000212M265 | NO LOGO PACKAGED
CBBEODD208M26S | NORTECH LOGO PACKAGED
PART# WITH M3 X 12.7MM_CAPTIVE SCREWS (SLOT HEAD) SUPPLIED
A29EB21503M3S | NO LOGO COVER TOP BULK
A29E921500M3S | NORTECH LOGO COVER TOP BULK
A30E140100 COVER BOTIOM BULK
C8BE000212M3S | NO LOGO PACKAGED
CBBEOD0208M3S | NORTECH LOGO PACKAGED
PART# WITH #4—4D X 1/2° CAPTVE SCREWS (PHILLIPS HEAD) | SUPPLIED
A29EB21503PS NO LOGO COVER TOP BULK
A28E921500PS NORTECH LOGO COVER TOP BULK
A3DE140100 COVER BOTTOM BULK
CBBEN00212PS NO LOGO PACKAGED
C8BFODD208PS NORTECH LOGO PACKAGED

THIS IS A CONTROLLED DOCUMENT AND iS
SUBJECT TO CHANGE. CONTACT NORTHERN
TECHNOLOGIES ENGINEERING FOR THE
LATEST REVISION,

REVISIONS

FILLISTER HEAD CAPTIVE SCREW

(]
|
|
iz D

PHILLIPS HEAD
(TOP VIEW)

ZONE REV DESCRIPTION DATE APPROVED
THREAD LENGTH HEAD
tns s STYLE MATERIAL PLATING
#4-40 UNC |12 INCH SLOT COLD ROLL STEEL ZINC
#4-40 UNC 7/16 INCH sLar COLD ROLL STEEL ZINC
M25 X .45MM | 127 MM sLoT LOW CARBON STEEL| ZINC
M2.6 X 45MM [12.7 MM SLOT LOW CARBON STEEL| zINC
M3 X .SMM 12,7 MM SLOT LOW CARBON STEEL| ZINC
#4-40 UNC | 1/2 INCH PHILLIPS |LOW CARBON STEEL| zING
UNLESS OTHERWISE Northern THIS IRAVDNG IS THE PROPERTY OF
SPECIFIED Technologies N7 BE. REDRERICED. WA s
-y oﬂ!ﬂgﬂ.ﬁ RN g TECHNOLOGIES WRITTEN PERMISSITN.

2 DIMENSIONS ARE TYPICAL

PART NUMBER SEE PART NUMBER INFORMATION

DRAWN DESCRIPTION CM 50 METAL COVER
JsD 22— JAN=02
CHECKED SIZE | CODE DWG NO. REV
SCN 12~FEB—02 B 200_105 0002-200-105
ISSUED
12—FEB-02 SCALE NTS SHEET 2 ofF 2




